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For each matrix A in Exercises 1 through 13, find vectors BCive an example of a fnatrix A such that im(A) is
that span the kernel of A. Use paper and pencil. spanned by the vector { 5} ;
1 2
1.A:[3 4} 2. A=[1 2 3]

Describe the images and kernels of the transformations in
Exercises 23 through 25 geometrically.

3.A:[O 0} g A= 2 3}

0 0 23, Reflection about the line y = x/3 in R?
A {

1
1
1

eor (12)= 11511 = spou (161)
2 Sele . [1. 2 3] l;‘él‘:[o\

7(| ~27c7~§x3
Ny K +2K w353 TO T~ [;31,} 5 K






